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MODEL SET –  I  

 Question paper for 2014 

Zoology (Biology II) 

Full Marks 35            Question 1 -10 of one marks each. 

1. Uracil is present in  

a) DNA  

b) Protein  

c) RNA  

d) Sugar 

 

Ans. (c) RNA 

  

 ;wjklhy fuEukafdr esa ls fdlesa ik;k tkrk gS \ 
a) Mh0,u0,0 
b) izksVhu  

c) vkj0,u0,u0 

d) 'kdZjk  
 

2. Law of use and disuse of organs was given by 

a) Mendel 

b) Darwin 

c) De Varies 

d) Lamarck 

 

Ans. (d) Lamarck 

  

 vxksa ds mi;ksx ,oa vuqi;ksx dk fl)kar fdlus fn;k gS \ 
a) esaMy 
b) MkfoZu  

c) Mhczht 

d) ykekWdZ 
 

3. The chromosomal type of sex determination in human being is  

a) XX XO  

b) XX XY  

c) ZW ZZ 

d) ZO ZZ 

  

Ans. (b) XX XY  

 ekuoksa esa fyax fu/kkZj.k ds fy, vkuqokaf’kd izdkj gS& 
a) XX XO  

b) XX XY  

c) ZW ZZ 

d) ZO ZZ 
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4. Which of the following blood group in human beings were discovered by Landsteiner 

a) A,B, AB  and O system  

b) Rh factor 

c) Kell factor 

d) Bombay factor 

 

Ans. (a) A, B, AB  and O system 

  

 Ekkuoksa esa fuEukafdr esa ls dkSu lk jDr lewg dk [kkst yS.MLVsuj us fd;k Fkk \ 
a) A,B, AB  vkSj O lewg 
b) Rh QsDVj 

c) Dsy QsDVj 

d) ckWEcs QsDVj  

 

5. After ovulation the structure formed by rupture of graffian follicle is known as 

a) Corpus luteum 

b) Corpus albicans  

c) Corpus callosum 

d) Placenta 

 

Ans. (a) Corpus luteum 
  

 vaMksRlxZ ds i'pkr~ xzkQh iqVd ds QVus ls tks lajpuk curh gS] mls D;k dgrs 
gS\ 

a) dkZil Y;wfV;e@ihr fiaM 
b) dkZil ,yfcdsUl 

c) dkZil dkWyksle 

d) IySlsaVk@vijk 
 

6. Which of the following disease is diagnosed by WIDAL Test 

a) Malaria 

b) Typhoid 

c) Filariasis  

d) Ascariasis 
 

Ans. (b) Typhoid  

 fuEufyf[kr esa dkSu lh chekjh dh tk¡p ds fy;s ^^foMky ijh{k.k^^ fd;k tkrk gS \ 
a) eysfj;k 
b) Vk;QkbM 

c) Qkbysfj;k 
d) ,Ldsjsfll 

7. Flow of energy in an ecosystem is  

a) Unidirectional 

b) Multidirectional 

c) Bidirectional 

d) Without direction 
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Ans. (a) Unidirectional 

 ÅtkZ izokg ifjra= esa gksrk gS \ 
a) ,d fn’kk esa  
b) nksuksa fn’kkvksa esa  

c) cgqfn’kh; 

d) fn’kkghu 

 

8. Which among the following is the State animal of Jharkhand 

a) Cow 

b) Tiger  

c) Elephant 

d) Lion 

 

Ans. (c) Elephant 

 fuEufyf[kr esa dkSu lk tkuokj >kj[k.M jkT; dk ^^jkT; i’kq^^ gS \ 
a) Xkk;  
b) Ckk?k 
c) gkFkh  

d) 'ksj 
 

9.  Which is the most polluted river of Jharkhand 

a) Damodar river 

b) Swarnrekha river 

c) Koel river 

d) Karo river 

 

Ans. (a) Damodar 

 >kj[k.M esa fuEufyf[kr esa dkSu lh unh lcls vf/kd iznwf"kr gS \ 
a) nkeksnj unh 
b) Lo.kZ js[kk unh 
c) dks;y unh 
d) dkjks unh  

 

10. Which of the following antibody is found in abundance in Colostrum (Mother milk)  

a) IgG 

b) IgM 

c) IgE 

d) IgA 

 

Ans. (d) IgA 

 fuEufyf[kr esa dkSu izfrj{kh izFke LrU; ;k [khl esa izpqjrk ls ik;k tkrk gS \ 
a) IgG 

b) IgM 

c) IgE 

d) IgA 
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Question 11-13 carries 2 marks each  2 X 3= 6 

iz'u la[;k 11&13 ds fy;s nks vad fu/kkZfjr gSA  
11. Match the columns ( ½ x 4 =2) 

       LrEHk ^v^ dks LrEHk ^c^ ls lgh feyku djsaA  
 

Set A Set B 

Testes Oogenesis 

Ovary Spermatogenesis 

Corpus luteum Spermatid 

Seminiferous tubules Progesteron 

 

Ans 

A B 

Testes Spermatogenesis 

Ovary Oogenesis 

Corpus luteum Progesteron 

Seminiferous tubules Spermatid 

 

LrEHk ^v^ LrEHk ^c^ 

o`"k.k vaMtuu  
vaMk’k; 'kqØtuu 
ihr fiaM 'kqØk.kqizlw  
'kqØtud 
ufydk;sa 

izkstsLVªkWu 

 

12. Name two protozoan parasites that cause disease in human beings? 

 

Ans. Malaria parasite (Plasmodium), Amoebic dysentery (Entomeba histolytica)  

 ekuo esa jksx mRiUu djus okys nks izksVkstksvu ijthoh dk uke fy[ksaA  
 

Or 

 

Name the disease that is caused by oncogenic virus or proto oncogenes found in the human body  

 

Ans. Cancer 

 gekjs 'kjhj esa ik;s tkus okys vcqZnh; fo"kk.kq ;k vkfnvcqZn thu ls dkSu lh chekjh 
 gksrh gS \ 

 

13. DNA is a ___________material came from the experiment of _______________ & 

_____________  (Hershey , Genetic, Chase) 

 

Ans. Genetic, Hershey, Chase   

 Mh0,u0,u ---------------------------------------- iznkFkZ gS tks ------------------------------ vkSj --------------------------- 
 ds iz;ksx ls izkIr gqvkA ¼g"ksZ] vkuqokaf’kd] psl½ 
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Question 14-16 carries 3 marks each 3X 3 = 9 

iz'u la[;k 14&16 ds fy;s rhu&rhu vad fu/kkZfjr gSA  
 

14. In diagram below label the processes as marked 1, 2 and 3.   

 

 

 

 

 

 

Ans. 1- Replication, 2 - Transcription, 3 - Translation  

uhps fn;s x;s fp= esa ,d] nks vkSj rhu Øe la[;k dks ukekafdr djsaA   

       1           2       3 

                

                           Mh0,u0,0  ,e0vkj0,u0,u                       izksVhu 

 

Or 

Expand the followings  

a) STD  

b) MTP  

c) VD  

 

Ans.   STD –Sexually Transmitted Diseases 

MTP –Medical Termination of Pregnancy 

       VD – Venereal diseases  

 fuEufyf[kr dks iw.kZ djsaA  
a) ,l0 Vh0 Mh0 
b) ,e0 Vh0 ih0 
c) oh0 Mh0 
 

15. Match correctly set A with the set B   

Set A Set B 

Forest Act 1972 (Amended1991) 

Wildlife (Protection) Act 1988 

National Forest Policy 1927 

Ans. 

Set A Set B 

Forest Act 1927 

Wildlife (Protection) Act 1972 (Amended1991) 

National Forest Policy 1988 

     1           2   3 

      DNA   RNA                      Protein 
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 lewg ^v^ dks lewg ^c^ ds lkFk lgh feyku djk;saA  
 

LrEHk ^v^ LrEHk ^c^ 

QkWjsLV ,DV 1927 ¼la’kksf/kr 1991 
okbYM ykbZQ izksVsD’ku ,DV 1988 
us'kuy QkWjsLV ikWfylh 1927 

 

 

16. Name any three fossil fuels you have studied. 

 

Ans. Petroleum products, natural gas and coal  

 vkids }kjk i<+k x;k rhu thok’e baZ/ku dk uke fy[ksaA   

 

Or 

 

Name the element from which nuclear energy is obtained commercially in our country. Name the 

place in Jharkhand where the mining is carried for this element. 

 

Ans. Uranium /Jadugorda in Purbi Singhbhum district of Jharkahnd (Uranium Corporation India Ltd.). 

 

vFkok  
 

oSls rRo dk uke crk;sa ftlls ijek.kq ÅtkZ O;olkf;d :i ls mRiUu dh tkrh 
gS\ >kj[k.M ds fdl ftys esa bldk [kuu gksrk gS \ 

 

 

Question 17-18 carries 5 marks each 5X2 = 10 

iz'u la[;k 17&18 ds fy;s ik¡p&ik¡p vad fu/kkZfjr gSA  
17. (a) Give other name for nutrient cycling (Phosphorous cycle/Biogeochemical cycle) (1 mark) 

 iks"k.k pØ dk nwljk uke crk;saA ¼QkWLQksjl pØ@tSo Hkw jlk;u pØ½ 
(b) Name the type of nutrient that has the reservoir in the atmosphere (gaseous/ Sedimentary)  (1 

mark) 

ok;qeaMy esa fo|eku iks"kd pØ ds izdkj ds HkaMkj dk uke crk;saA 
¼xSlh;@volknh ;k ryNVh½ 
(c) Example of sedimentary nutrient cycle is (Nitrogen andcarbon, sulphur and phosphorus) (1 

mark) 

volknh ;k ryNVh iks"kd rRo dk mnkgj.k nsaA ¼ukbVªkstu vkSj dkcZu@lYQj 
vkSj QkWLQksjl½ 

              (d) Name four major causes of biodiversity loss (2 marks)  

 tSo fofo/krk ds {kfr ds pkj dkj.kksa dk mYys[k djsaA  
Ans.  

 

(a) Biogeochemical cycle 

(b) Gaseous 

(c) Sulphur and phosphorus 

(d) Four major causes of biodiversity losses are – Habitat loss and fragmentation, over exploitation, 

alien species invasion, co-extinction 
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 Or  

 

(a) The flow chart is of food chain/food web  – of (1) mark 

fuEukafdr pkVZ fdl izfØ;k dks n’kkZrk gS \ 
       ¼vgkj J`a[kyk@vkgkj tky½ 

 

 

 

 

(b) Define parturition - of  (1) marks 

izlo dks ifjHkkf"kr djsaA  
(c) Name the syndrome that is due to chromosomal disorders  (2) marks  

Øksekslkseh; fodkl ls gksus okys flaMªkse dk uke crk;saA  
Ans.  a) Food chain 

 (b) The process of delivery of foetus (child birth) is known as parturition 

 (c) Down syndrome, Turner syndrome, Klinefilter’s syndrome 

 

18. (a) The pyramid shown below is for _______________of an  ideal ecosystem (2 marks) 

 uhps fn;s fn;k lwph LraHk ¼fijSfeM½ ------------------------------ dk vkn’kZ ikfjfLFkfrd lwph 
 LraHk gSA  

 

(b) Label a, b and c in the diagram (3 marks) 

fp= esa a, b vkSj c dks ukekafdr djsaA  
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Ans. (a) Energy 

(b) a- SC (Secondary consumer); b- PC (Primary consumer); c- PP (Primary producer) 

 

  

Or@vFkok 
 

(a) Analogous structure are example of which type of evolution (Convergent/ Divergent) (1 

mark) 

letkr vaxksa dk mnkgj.k fdl izdkj dk fodkl gS \ ¼vilkjh fodkl@vfHklkjh 
fodkl½ 
(b) Eye of the octopus and eye of the mammals are the example of which type of structures? 

(Analogous/ homologous) (1 mark) 

Grass                 Goat Lion 

10 J 

100 J 

1,000 J 

10,000 J 

TC 

a 

b 

c 
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v"VHkqt ¼vkWDVksil½ rFkk Lru/kkfj;ksa dh vk¡[ksa fdl izdkj ds fodkl dk mnkgj.k 
gS \ ¼vuq:irk ;k rqY;:irk@letkr½ 
(c) Humerus, Radius ulna, carpel metacarpels  are the example of (Analogous/ homologous) (1 

mark) 

izxafMdk ¼g;wejl½] izdksf"Bdk ¼jsfMvl½] var% izdksf"Bdk ¼vyuk½] ef.kcaf/kdk 
¼dkWisZYl½] djfHkdk ¼esVkdkWisYl½ fdl izdkj ds fodkl dk mnkgj.k gSa \ ¼vuq:irk 
;k rqY;:irk@letkr½ 
(d) Darwin finches are the example of  (adaptive radiation/ selective radiation) (1 mark) 

MkfoZu fQap fdldk mnkgj.k gSa \ ¼vuqdwyh fofdj.k@oj.k fofdj.k½ 
(e) Name the island to which Charles Darwin visited  (Malaya archipelago/ Galapagos Island) (1 

mark) 

pkYlZ MkfoZu ftl }hi ij x;s Fks] mldk uke crk;saA 
¼ey;vkdZisySxks@xSykiSxksa}hi½ 

 

Ans.  (a) Convergent 

 (b) Analogous 

 (c) Homologous 

 (d) Adaptive radiation 

 (e) Galapagos Island 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Good Luck 


